

M.I. Nelson

School of Mathematics & Applied Statistics, University of Wollongong, AUSTRALIA.

$$(2^3) (2^5) =$$

 $(2^{-3}) (2^5) =$
 $6^2 =$
 $(2^2)^3 =$

$$(2+3)^3 =$$

$$(2^3+3^3) =$$

$$\sqrt{4} =$$

$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5}$$

 $(2^{-3}) (2^5) =$
 $6^2 =$
 $(2^2)^3 =$

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8$$

 $(2^{-3}) (2^5) =$
 $6^2 =$
 $(2^2)^3 =$

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8$$

 $(2^{-3}) (2^5) = 2^{-3+5}$
 $6^2 =$
 $(2^2)^3 =$

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 =$
 $(2^2)^3 =$

Evaluate

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6$
 $(2^2)^3 =$

Evaluate

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 =$

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2 \times 3}$

Evaluate

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 =$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3$$
$$(2^3+3^3) =$$
$$\sqrt{4} =$$
$$\sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3 = 125.$$
$$(2^3+3^3) = \sqrt{4} = \sqrt[3]{27} =$$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3 = 125.$$

 $(2^3+3^3) = 8+27$
 $\sqrt{4} =$
 $\sqrt[3]{27} =$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3 = 125.$$

 $(2^3+3^3) = 8+27 = 35.$
 $\sqrt{4} =$
 $\sqrt[3]{27} =$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3 = 125.$$

 $(2^3+3^3) = 8+27 = 35.$
 $\sqrt{4} = 2.$
 $\sqrt[3]{27} =$

$$(2^3) (2^5) = 2^{3+5} = 2^8.$$

 $(2^{-3}) (2^5) = 2^{-3+5} = 2^2.$
 $6^2 = 6 \times 6 = 36.$
 $(2^2)^3 = 2^{2\times 3} = 2^6.$

Evaluate

$$(2+3)^3 = (5)^3 = 125.$$

 $(2^3+3^3) = 8+27 = 35.$
 $\sqrt{4} = 2.$
 $\sqrt[3]{27} = 3.$